Integral - 7.4 - Trigonometric Substitution January 26, 2016

e 7.1#5-53 odd basic integration techniques
o 7.2#1-35 odd integration by parts
o 7.3#3-150dd; 21-370dd; 47-670dd trigonometric integrals
e 7.4 #5-150dd; 19-430dd trigonometric substitution
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Sketch the region and set up the integral(s), but do not evaluate, to find the area of the region bounded by the

graphs of the given functions.
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Set up and simplify the integral, but do not evaluate, to find the arc length of the given function on the interval.
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Setup and simplify the integral, but do not evaluate, to find the surface area of the solid generated by revelving the
graph of the equation about the x-axis. b
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Sketch the region and set up the integrals for #5-10, but do not evaluate, to find the volume of the solid generated
by revolving the region bounded by the graphs of the equations about the indicated lines.
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Sketch the region and set up the integrals for #5-10, but do not evaluate, to find the volume of the solid generated
by revolving the region bounded by the graphs of the equations about the indicated lines.
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Sketch the region and set up the integrals for #5-10, but do not evaluate, to find the volume of the solid generated
by revolving the region bounded by the graphs of the equations about the indicated lines.
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11. Find F'(x) iﬁj) = f:; cosx dx .
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